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Chose the correct answer for each of the following questions.

1- A current of 3.0 A is flowing in the wire shown in the figure, what
is the magnitude of the magnetic field at point “P" which is 2.5 cm
away from the wire?

Aile ALl e e S p Al die pudalinad) Jiaall laie Lo (JSEN & Gueall il 83,0 A 4iad s e

2.5 cm
A. 35x107 T P
B. 48x107 T 'is{
C. 5.6x107 T < o
D. 7.0x107 T i=30 A

2- A wire is carrying a current into the page as shown in the figure.
In which direction does the magnetic field point at point P?

P kil yie orlalinall Jaall olai) s Lo cJSEN 8 (e 58 LS dniall (5 sive Jaba oladls el & i e

A. In the direction of +Y axis
B. In the direction of -X axis y  Peo .. Qi

C. In the direction of +z axis
D. In the direction of -Y axis z x

3- Two wires carrying currents in the direction shown in the figure,
wire 1 carry a current i1=3.2 A, wire 2 carry a current i2=1.5 A,

w_n

find the magnetic field at point "p

S AL 3 e 5012324 4iad i Jo¥) Sl 8 ey (SN 8 e 58 LS Legie JS 8 ey oKL
P akiall vie plaliandl) Jladl) 22 5lc =15 A aiad s

A. 1.7x10° T, with an angle of 60° relative to +X

B. 2.8x107° T, with an angle of 120° relative to +X Z'
C. 3.5x10° T, with an angle of 115° relative to +X 3
D. 4.6x10° T, with an angle of 109° relative to +X N
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4- Two wires carrying currents in the direction shown in the figure,
wire 1 carry a current i1=4.6 A, wire 2 carry a current i2=2.5 A,

w_n

find the magnetic field at point "p

SN L) 8 e 5i1=4.6 A aiad S Y Sl b ey (JSED 8 Gae s S Legie S 8 ey MSLs

P ksl e . clalizall Jladl) _\,A}ic i2=2.5 A 4ad s

A. 47x10° T, in the direction of +Y axis
B. 2.1x10® T, in the direction of -Y axis
C. 1.4x10°% T, in the direction of +Y axis i2 y

D. 1.4x10° T, in the direction of -Y axis Zl_)x

5- Which of the following is correct about the direction of the
magnetic field that is produced by a current carrying wire?

SheS L4l ey el e il slalinad) Jlaal) slai) Ciua g 8 s 40 &) jlad)

A. It is perpendicular only on the current element direction.

B. Itisin parallel fo the direction of the radial vector always.

C. It isin parallel only to the current element direction.

D. It is perpendicular on both current element and radial directions.

6- Two wires are carrying currents into the page as shown in the
figure. If (ii<iz ),In which direction does the net magnetic field
point at point P that is in the middle between the two wires?

Jlaall Aeana sl e ((ig<iz ), S 13 JSEN 3 e 9t LeS Aniaall (5 ginsa 13 slaily gl oSleny (ASks

oSl Adlial) Caatia A ad Al P adadill e oundalinal)

A. In the direction of +Y axis
B. In the direction of -X axis [ I ro .P r [X)
C. In the direction of +z axis iz i1
D. In the direction of -Y axis i_)

z x
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7- Two parallel straight wires are separated by 5.0 cm distance,if
the length of wire 1 and wire 2, in order are (12 cm, 23 cm), and
the currents in wire 1 and wire 2, in order are (3.0 A, 5.2 A), what
is the magnitude of the force exerted on wire 2 by wire 1?

23 cm S dlladl Jshas 12 cm Y el Jsb S 13 5.0 cm 4dlus Lagin il Gl 3l st Glagiine (ISLa
€2 Gl e 1 Glldl e Al sl 35l Hlaie e 52 A S el 35 3.0 A Y el & Ll lall sad

A. 1.4x10° N Y Wire 2
-6 !

C. 75x10° N |

D. 8.2x10° N \J Wire 1

8- Two parallel stright wire carrying two currents flowing in the same
direction, and separated by a distance "d", if the current through
one of them is doubled, and the separation distance is halfed, how
will the mutual force between the two wires change?

CllE g ¢ L) sl B oLl Bad Cdelial 13) Mg Adlie Lagin Jaaly g colad¥) (udi (A o )l By L)) e olSLa
CoaSLll o Adaliial) 3 g8l et (oS ¢ adde ChilSle Caal ) Sl dlialal) Al

A. The force will reduce by a factor of 4.
B. The force will reduce by a factor of 2.
C. The force will increase by a factor of 4.
D. The force will not change.

9- Which of the following is correct about the magnetic force
between the two parallel wires shown in the figure?

U b el () sial) Sl Aol dguaplaliaeall 3 s8Il (slahy Lo dagna 4l ol jlaal) g

A. Equal attractive force.

B. Equal repulsive force. ® @

C. Unequal repulsive force. i i2

D. No magnetic force on any of the wires.
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10- The two parallel wires shown in the figure carries two different
currents i1=3A, i2=6A,and the two wires have the same length, if
the force that is exerted on wire 1 by wire 2 is 1.2 N, what is the
force exerted on wire 2 by wire 1?

8 g8ll CilS g ands J glall (pSLlL K1Y (1=3 A 226 A (palite ol OBleay JSEI 8 linall Gl ) siall LSl
S5V el e (A Gl e A shall 3 8 ot Lad ¢ 1.2 N Jalad U @lld) 3l 5 J5Y) elludl e & 5l

A. 0.6 N _ -
B 12N Wire Wire
C. 24N 12IN ® @

’ i1 12
D. Zero

11-A current of 3.2 A is flowing in clockwise direction through a wire
loop with diameter of 12 cm, what is the magnetic force in the
center of the wire loop?

& oubliaal Jaall e ¢12 cm e plad 280 dals 8 deludl Cjlie G )gaeladl Hen 3.2 A aad LS (5
faala) ol S ya

A. 1.7x10° T, into the plane of the page.
B. 2.6x10° T, out of the plane of the page. \ i
C. 5.3x10° T, out of the plane of the page. ,\

D. 3.4x10° T, into the plane of the page.

12- A current of 5.0 A is flowing through a wire loop with radius of
0.5 m, what is the magnetic force at point along the loop axis,
which is 0.1 m far away from the center of the loop?

Aalall 38 je o2 0.1 m Alas 2o

A. 5.9x10° T, in the direction of -Y ?
B. 1.2x10° T, in the direction of + Y y | 0.1m
C. 19x10°° T, in the direction of -¥ s R i
D. 2.4x10° T, in the direction of +Z i @
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13- Two coaxial wire loops, have the same radius and the same
current is flowing through each loop but in opposite directions as
shown in the figure, what is the direction of the magnetic field at
point in the middle between the loops (pint "p")?

o) (8 JlaSlaia s Hhaall (8 Gl sbuie Ol )L Lagd ey ¢l slasin Laga phad (a5 ) saall (i Lagd LSl sl
(“P” ALaill) plal) (p A8lnall Ciaiia vie Adaii 5 edalinal) Jaall olad) Lo ¢ JSEH 3 (s 58 LeS A jal

A. In the direction of +X

N P
B. In the direction of -X axis f=——-@ ===~
C. In the direction of +y y
D. No magnetic field at point “P"
b X

14- A loop with radius of 5.0 cm carrying a current of i1 =2.0 A flowing
in counter-clockwise direction,touch a straight long wire carrying
a current of i2=3.0 A, as shown in the figure, what is the magnetic
field at the center of the loop?

Aeludl (o jlie ol )52l (uSlae olai) b 48l 8 380 1=2.0 A 4538 ki Jasi 5.0 cm W ki Cioai ASLa dils
eaalal) S e die pendalinall Jlaad) Lo (JSED 8 (e 58 LS 5=3.0 A 4iad i 48 e Lagfivee Sh 281 puali

A. 13x10°T R
B. 2.6x10°T i /
1 N
C. 3.7x105 T Voo
D. 4.1)‘10_5 T i2
<

15- Which of the following is the unit of magnetic permeability ?

bl A3l as g Jiai b Lea 5l

A T.Am!
B. Nm.A™
C. TmAl
D. A.S.m™
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16- The figure shows a cross-sectional area of cylindarical condictor
with radius "R",and a current is flowing in the conductor into tha
plane of the page, at what point the magnetic field produced by
the conductor is the largest?

) &S5 Al (gl ie dadiall (5 gina Jala olatly AL eSSl 4 (5 Joasal Lua jo Ladaia S jelay
5 snallll e (b duasall A Ll )5 50 o @l ounlalizall

A. At point C R
B. At point D B D e:./'

C. At point B - @--------- ®- @ foooo-
D. It is the same at all the points Ri

17- The figure shows a longtuditud section of an ideal solenoid, when
a current flows in the solenoid, at what point inside the solenid,
the magnetic field is the strongest?

5l () 5S5 aloll Calad) Jaulo 3k of die ccalll 138 8 )L (g ey Ladie ¢ e ol o) Calal L gha Ladaite JSEI1 ek
¢ SV pudalinal) Jlaall

A. At point A cE‘;EC.@HS' —
B. At point B Caxis _
C. At point C A °B

D. It is the same at all the points PR T

18- An ideal solenoid has 120 turns per cm, produces a magnetic field
of 0.02 T inside it, what is the current flow in the slenoid?

Sl Ll e le <002 T aiad 4lals Llaliie Yisa iy s chia Jsh o A8 120 g0 0555 M il o) e
¢ sl Gl 3

30A
25 A
1.3A
09 A

oo w>
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19- The figure shows a solenoid with length "L" , number of furnes
"N" and current "I" flow in the solenoid, if we compress the loops
of the solenoid to be closer, how will the magnitude of the
magnetic field inside the solenoid change?

B ke oS Calal) il o U S8 03] o] 3 seS 5 4 (5 pmanrs N il 220 5 | 4l gha Lyl g1 ile (S0 el
€ sl Calall Jabs anlianal) L)

A. It will increase

B. It will decrease

C. It will stay the same.

D. We can't determine the changes.

20- An ideal solenoid has 1500 turns, has 0.20 m length, if a current
of 3.0 A flows in the solenoid, what is the magnitude of the
magnetic field outside the solenoid?

el Jlate Lo cilall 138 (4 3.0 A 4528 )L 213 0.20 m sk 4 1500 oo 058 (Mie (51 ol
Ll g A alalinall

A. 2.8x102T
B. 3.6x102T
C. 41x102T
D. Zero

21- In which amperian loops shown in the figure, magnitude of the
¢ B.d5 is the largest?

Y § B dF e 58 KA b el 4y Y] il o g 3

A. Loop A
B. Loop B
C. Loop C
D. It is the same in all loops
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22-In the amperian loop shown in the figure, find the magnitude of
the ¢ B.d§ ?

¢ $B.dF e an sl (I L Ainal) &y ¥l Al b

A. 3.4x10° Tm 2A()

B. 2.5x10° T.m M

C. 1.9x10° Tm @6 . D3A
D. 1.1x10® T.m

23-The coil shown in the figure, contains 120 turns, the radius of
each turn is 1.2 m, what is the magnitude magnetic field at the
center of the coil, when a current of 1.5 A flows in the coil?

Gl S e b omalalianad) Jall e b 1.2 1 Leta IS b ot 0 120 (pe IS b cpandd) Gl o 55
1.5 A 4l Hiad Ha Laie

A. 94x10° T
B. 7.8x10° T R
C. 6.2x10° T g/'
D. 5.1x10° T

Z i

Best regards ...
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